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1 (=A%),

a. (sin(7z + 8))" =

b. (cos(2 — bx)) =

c. (logztan2z) =

d. (sin 3z cosbx)’ =
e. (sin’z)’ =

f. (tan(z? 4 5x))" =
5. (e05+) =

h. (sin(cos2z))" =

———— SABOBS ——————

(sinz) =
(cosx) =
(tanz)' =
N\ J
e (1 G/ ~N
MO

(f(x)g(x))" = f'(x)-g(x)+ f(x)-9'(x)

B DT

(f(g(x)))" = f'(9(x)) - ¢'(x)
N\

2 (W=AR%K).

a. arcsin() =

b. arcsin 3 =

1

Cc. arcsin ——— =

V2

d. arccos1 =

1
€. arccos 5=

f. arccos — =

V2
g. arctan 1 =
h. arctan — =
V3
1. arctan —1 =

j. (arcsinz) =

k. (arctanx)’ =

arcsin xr =

[siny =x 725 —

arccosr =

[cosy=x &5 0<y<m]

arctanx =

[tany =z £ 785 —g <y < gl
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3 (W) DR oMM MK &S 4
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a. f(z) =a% +4x -5

b. f(z) =223 — 322 + 1

- B D BE ~
fllx) >0 = f(x) 1800
fllz) <0 = f(z) 3EHD
fllg)=0 = f(z)ld—%&

4 (Fif). BLF O BIB MM % Rk k.

a. f(x) = 2% —2x+3

b. f(z) =23 — 422 — 3z
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5 (KEIER).

24 ax—2
a. lim —— =
x—1 33—1

. xr+1
b. lim =
rx——1 .CC2 —|—4.§C—|—3

r x34+222 -5 —6
c. lim =
r—2 .263—562—4.56—{—4

4362—1—3:]5—2_

d. lim
2 +5

Tr—r 00

. sinx
e. lim =
rxr—0 x

£ lim sin 2x _
z—0 3x

tan4zx

& :}}3}) 3z

. arcsinx
h. lim =
x—0 €T

... logzx
i. im =
x—1 1 — 1

.. et —ax—1
jo lim ———— =
x—0 x

T Dl:ﬁ)b@;giiﬁ

) persmo e =
g(a)

6 (ZJ0 L TR % skeb 2 FI). AR
T = elogw

ZHWT, LN OMRER Z sk 70 X\,
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a. lim(14+z)» =

x—0

b. lim (1 + log z)®es =
r—1



